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PAPER 11
In short-run the firms' shut down point is .

2 &L lWleT GmSH W s&mev el LiLIGILD L6Terf],

A: P>AVC
P>AVC
B: P=AVC
P=AVC
C: P=AFC
P=AFC
D: P=AC
P=AC

Find average variable cost (AVL) for the cost function e(y)=y2+l
Q& & Fweur@aeafer, #ymal Inmmld Q&Feeneald (AVC) &G &&aD : e(y) =y + 1

A AVC =y?
AVC =y?
B: AVC=y+l
AVC=y+1
C: AVC=1ly
AVC=lly
D: AVC=y
AVC =y

Match the following concepts with authors :

(1) The ‘Kinked-Demand' model (a) Cournot
(2) The ‘Heroic' assumption (o) Bertrand
(3) Other firm holds its price constant (c) P.Sweezy

(4) Other firm holds its output constant (d) Chamberlin

EDEHETTL H(HS TS5 EHLET Heuhilerr LenLUumsTTaensm CILM(HESD :

(1) ‘&g - iglomenr’ Sl (a) GCammyesrml
(2) ‘afiGrmuils’ sigiwmeid (b) QuiFLrmedoTL
(3) wmm swelusfl eflensusmw (c) 1. srusisrd)
Elensuilms eneulhgI6TsTg)
(4) whn sn6lussi Geusfluii {HI () Gaburedlssr
Cummsemem Hlemsviims
DEUSHBIETETS)

Az (D), 2)-@), 3)-(b), (4-(0)
(D~(d), @)-(a), (3)-(b), (H-(c)
B: (1)-(c), 2)-(d), (3)-(b), (4)-(2)
(D), 2)-(d), (3)-(b), (4)-(2)
C: (D-(b), 2)-(), 3)-(c), (D~(d)
(D), )-(a), 3)-(c), (4)-(d)
D: (1)-(c), @)-(a), (3)-(b), ()~(d)
(1)), 2)-(a), 3)-(b), (4-(d)
4 Characteristics of inferior goods
Assertion(A): Inferior good exhibits an upward-sloping demand curve, where an increase in price leads to an increase in the quantity demanded

Reason(R): For inferior goods, the income effect of a price increase is weaker than the substitution effect, leading consumers to purchase more of the good as
price increases




ST GMbHS QLITHL 5 6rl60T & 60T TH & WMBIGHET :

Famml (A) : GO GHTERF FMUIHSE CHmal alameTemal SN GambS QLIMTIBL &6T, QelaflliL(G SIS ermenr; @& 6, allensu
2 Wijey, QUL &erfler GHemeu jeTenel AH&FEHRMS!.

&Myeorld (R) : LD GemMbBS QUTHL&HEH5 G, Lnmhm ellenereneal e, eflemev 2_wiFailermey gFmUG D au@BLOTeoT aflemerTey
aIedlemin GenMEITGLD; @& QUTHL G&e6rfler aflemey 2 Wi@HLD CUIMG), BISTCaITT &FH &Mt QLIMIBL &6T 6k GaISMNE
galalmGLD.

A Both (A) and (R) are true, and (R) is the correct explanation of (A)
(A) HOID (R) @UETGILD Ffl, (R), (A) -5GS 5GbS leTHSHIMNGD.
B: Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) DODID (R) @TrOILD Fifl, e (R), (A) -5GH HSHS Xl6MeH D SpHTSI.
C: (A)is false, but (R) is true
(A) U, SpeoTITe, (R) &ifl.
D: Both (A) and (R) is False
(A) O DID (R) @T60orGILD Heuml.

The Nash equilibrium is a situation in which each player chooses
'GIB61]' FLOBl6MEV 6T6TLISI, 626U aUTIHEUBLD CHFTHOSH MGG R GLDElemeWTEGLD :

A: Optimum Strategy
2 &H% 2 55
B: Dominant Strategy
CLTH&HS 2 55
C: Pricing Strategy
aflemey 2 55
D: No Strategy followed
6Ths 2 S Wb HerummriLi_ellsvemney

A Shift in demand curve upward for Apple can be done to :

(i) More preferences and tastes of consumers for apple

(ii) Decrease in price of apple

(iii) Increase in price of Orange

(iv) More preferences and tastes of consumers for oranges

@ 2 LILN6T UGS METer CHenal alamearaley GLaCHTEHES WMHMLD gHLIGIEUS! E)SHe0TT6 :
(i) BSTCaMHE G L ILN6T LSs16Ter el (HLILIBIGEHLD, SFemel G 6 &HEbHLD

(i) @ 1N erfl6tT eflemeunds Gemmey

(iil) 2 TEHELI LIPS H 60T elemov 2_LWiFe

(iv) BISTCAIMBEHE 3bTEha L5SI6TeT el (BLILIBISHEHLD, & 6M6U&E@FLD

A': Only (i) and (iii)

(i) LDMMILD (iii) DL (BILD
B: Only (ii) and (iv)

(i) LnHMILD (iv) L GILD
C: Only (i) and (ii)

(i) LnMMILD (i) WL HLD

D: Only (i), (ii), and (iii)
(i), (i) LLMHMILD (iii) LOL(BILD
What is the typical shape of indifference curves for complementary goods ?
BITULL QUITIHL S EH ST, 260G WILDITEOT 6)6m6Te) &5 6rfl6iT, UL & & LNMET allqaIlD 6Tl ?

A: Rectangular hyperbola
QF6UAIS B LITOIETE ('eMaMsLITELITEVT')
B: Down-ward sloping
GLOCHTERGF FMlbHS
C: L-shaped
L-aulgel
D : Upward sloping
GLELBHTERF FMUlbhSH
Monopolists' demand curve is
JEHBUTSHITH Gefl 6T CHemeal alemaTeal, L&D,

A': Positively sloped
ClBITMME FTUle)
B: Negatively sloped




THTMEF FTUI6]
C: Vertical

QFRGSHS!
D : Horizontal

FemL oL L

In the context of intertemporal consumption model, which of the following statements accurately describes the concept of intertemporal consumption function ?
B LD G 600TL 6UITE G WIS @B 6T 6Temel )60 L &&Mev BisFe mEH Hlulledr QUITeneT 66 &S 60T M 60T 6T60T & 600T L1 &.

A Ttrepresents the relationship between current consumption and future income
BLLUL BISTey InHmID TS F&MeV auBLmersH MG LD @emLullevmer Qs rLTLener LNFH USSR MG,

B: [Itillustrates the trade off between present and future consumption choices

BLLIL LDMmMID eTHT&ETe BisTe| Qs flaseaer Lflinmmmid QFUIgS alleTd:GRMmSI.
C: It is a mathematical equation used to calculate the optimal level of savings

FAmbs CFLALIL| 6960)60TLILIET &6vorL_Mlul LIWGTLGILD &560018 SFL06TLITH &bL& 0.
D : Tt depicts the relationship between consumption and inflation over time

SMOLIGLITSEH 6L HIGT6 MM L6t 6f655HME& @enLuileumear QsrLFLilener NH5HEHMmS!.

Which of the following describes the liquidity trap situation?

(i) the horizontal portion of liquidity preference curve

(ii) the demand for money is infinitely elastic with respect to interest rate

(iii) Reductions in the interest rate decreases peoples desire to hold cash balances

(iv) Increasing the money supply leads to significant inflation

Wereueussteumni6v eTgl LieoorLIL|p& e QU Blanevemnenw efleuflaESma ?

(i) LevorL1Lp& & el (BLIL euenemailedl HemL oL L LGS

(i) UL 1y R FHHMSL QUITMIGS S 6T LTS H D&M G emel 6T6V6em6uIMM L6 &HeiTemLn G\ mevorLgl.

(iil) UL 19 NEPFHe S GeMMLILIGI LI6voT G (BLILIGSHEM6T 06U H (B8 EGLD & 6rler el (BLILISNS GmmEHMmal.
(iv) Uemor AlBICWNHSmS B &FLILG GMHUINLS556 LamafsssHnE& el auGsERmE!.

A: (i) only
(i) LD
B: (i) and (iii) only
(i) LM MILD (iii) L HILD

C: (i) and (ii) only
(i) nMMILD (i) LD
D: (ii) and (iii) only
(i) LDMOILD (iii) DL (BID
Which economic effect describes the phenomenon where a decrease in the price level increases the real value of money balances, leading to higher consumption
and aggregate demand ?

FELDGHEITL. QUITBETTSTT ell6n6me] eTemel ? aflemev GemmULD CLIMG, Liesorl I0GLIL| Fa (B DCUMS), B&Te AD&SS G T
Camal Gn(HHMS) :

A Keynesian effect

Q& Wletd w6t ellemerea)
B: Rigou effect

LGS (Pigou) aflemeray
C: Fisher effect

SLNevFT ellemerey
D: Income effect

QU(BLDITETLD 6l60)6T6Y

In the context of national income accounting, consider the following hypothetical data for a country in a given year:

Gross domestic product (GDP): Rs. 2,500 billion

net factor Income from Abroad (NFIA): Rs. 200 billion

Depreciation: Rs. 300 billion

Indirect taxes:Rs. 500 billion

Subsidies: Rs. 100 billion

Based on the above data, which of the following is the correct calculation for the Net National Product at factor Cost (NNP at FC) ?
GHHW 6U(BLOITEOTS & 60018 G WENGTLIN, BLD&HE00TL &(HSICSHTET HI6Y&HET 61HSMeoT(H QHTH&EHLILIL L G
QMES 2 6THITL G 2 MLSSH (GDP) : €h.2,500 LN6ved) wiesr

QeuefBIL 160 BES QLTSS &ITT6ssl] 6UBLOMETLD (NFIA) : eh. 200 L6068 W 6ot

LIMMTE G : emb. 300 LN6ved wiedr

S6TEBLILY. : eh. 600 LN6vedwiedr

GuMaanlw FreaysserflarLig LleTalpL aums e Wwnkiserfle 61& Bl&T CHAW 2 MLISH &M &y Qgeaueiey (FC) &ifluimer
56001855 (b L&D,

A: Rs. 1900 billion
er. 1900 LN6ved wiedr




B: Rs. 1800 billion

er. 1800 LNeveSlwiedr
C: Rs. 2000 billion

er. 2000 LN 6vedlwiedr
D: Rs. 2400 billion

emm. 2400 LN6vedlwiedr

The paradox of thrift maintains that a Society's desire to save more .
) 856075 F) 60T (LD J600TLIMTLTE0TS!, FeNG LD P HIMHE CFllss ell(BLUF QFWRMSI :

A Lowers the equilibrium level of output and has no effect upon the amount saved
QauerflufL 19 65T FLOBlemey SjeTemals GmMEHR MG MM GFLALIL Q& T & U6 eTalallemeTanallld gHLUGSSTSI
B: Lowers the equilibrium level of output and the amount saved
QauerflufL 19657 FLOBlem6V SjeTemals GmMER MG MM CFLALIL Q&SI GmERMSI
C: Lowers the equilibrium level of output and increases the amount saved
QeuerflulL_1q.60T FLOBlem6V SjeTemald GemE&ERMS WM G QS Tam&HmW SH&HERM S
D : has no effect upon the equilibrium level of output and increases the amount saved
Qeuerflufl g 65T FLoBlemev DL L SHI6L 6TH5 ellememenealw]ld gHLBSSTS! HmIh CFLALL QAgTensam HH&HEH e
Built-in Stabilizers are
SULUULL QUIT@BETTSITY Blemeul LGS 6T60TLIS)

A discretionary fiscal actions available to the presided
N BLILILDTET B1S) [BL6UIY &M ST [BlmIaI60T H6mevel[H&E 2_6uor(H)
B : increased government spending on public works projects
QUITEILILIETN & HL_L IS EB&H ST T8 QF6velerhigeT H & KH G0
C: achange in the income tax rate
alLomer aulfl R HS5FH 6L LDMHMLD
D : changes in net tax revenues that are the result of a change in the level of economic activity
6%aalj aufl aumeuruiléy FHUG LD LDTHMHBIGET QLITIHETTSTT HL6UI)&HenS&6fler L LEH6v gmL®ILD mmHm& S eor
ETAUMEGLD

Kuznets cycle' duration is

'G6EVRIBL 6N &FLPMB' HTev 66 :

A: More than 50 years
50 91,600T(H & EBH &G GLO6V
B: Average of 18 years
Frreflms 18 oy,e00r(H &6T
C: 16-22 years
16 - 22 24,600T(H) & 6T
D: 5-6years
5 -6 2,600T(H & 6T
Tobin's risk aversion theory of portfolio is superior to Keynes as
I. it explains that individuals hold diversified portfolios of bonds and money rather than either bonds or money

II. The demand for money as closely dependent on interest rates and inversely related to interest rates and his theory provides a basis for liquidity preference
I1I. in discussing the prefect elasticity of demand for money (liquidity trap) at very low rates of interest

GLTLN60T- LieooT 1L Lp &8 el BLILISH 6T CaHTLLT® — SeoflBUT G Blenevwmers Qauler@ Wl Qumerlw efl
FoLliLmersl.

L. el BUTGET LISSH IHIS6T 36060 LIGOTLNTS 6n6UsH (BLILIMS el LSS JkIG6T Mo Lievor eleq uimkigerfleor

LTS LILRSSLIULL CUTTL&CUMICW a6l emeusH (BLILSTS iS5 N6k GRMmS!.

1. LIS G M Mer CHenel all g R SmhIGa6T QB[HEHSHINTS FTTHSIETETS MM eIl 1q N6 5k EHL6T CHFLOMMTS
QSMLIL6MLSI, InMHMILD Seurg CamLLm(® LewriLpga all(hLILISH M &M &1 LILI0L MU GULPHIGR M.

1L eNeuns5H 6L LietTsH Hasmer Fiflwmer GHemel QBRLER (Lenor QUMM &S Genm aul 1y R S5FH 60 2 6Teng.

A: Tonly

I 0L (LD
B: IIand I only

T LoMHMILD 1T LG
C: TandII only

[ LMD IT L HILD
D: All of the above

GG QHTHGHSHLILIL L 3|6060TH S0

Primary deposits are made by the people on account of




(DSETEOLD MAILILS QTN LDGSETTEV QFMSSLILGRMS

A': Household savings deposited with banks
BIR &efley amaulILmg QFSSLILL L GG WU CaFilliy
B: Payments received (by cheque or draft) from the central bank for sale of government bonds

SIFMHISL LUSHTHIgGmeT ellMLemer QFWaSDH&ETS SH W eumSB UL IGBHS (STCHFTEN6V 3{6V6VG! 6U6MTCEU T 6V
eL6VLD) QUIMLILIL L LI6ooTLD

C: Payments received from abroad and deposited with the bank

QeuerflBITL 160 @BH& Listord QuUMLILLG eum&ulley smeuliy BB wns CFlEGsLILGR S
D: All of the above

GLOSIETET 6 60TS SILD

The precision of OLS methods is measured by

OLS enmuiedr S1606dWig Fe6TemLn 67560 eLn6euld emellL LGS ma! ?

A: Standard deviation
Blemeuwimenr eflevds6l
B: Standard error
Blemeuwimenr Llemp
C: 't'ration
't GIye.60T
D: F'test
'F' GF M 607 60T
A purely random process is a stationary series with
RO WHPaID FIHm QFWOWEND 6TeTLZ, 2 L 6T Falqll BleneumeT QFMLT ,&LW0.

A: Zero variance
LLSWw LommiLm@
B: Zero mean
waw srrerl
C: Positive mean
GBiwenm Frmeifl

D: Zero mean and zero variance
waw Frreifl HmiIb LW wrmiuim@

What is the probability of getting more than '2' when die is tossed
2(h LG SMHH erm WL LT 2' -8 CLO6L QUMIGUS MG TET BIGLD &86) 6T60T6UT ?

A: 12
12
B: 173
1/3
C: 23
2/3
D: 3/3
3/3

Match the following suitable measurement with type of data

1). Nominaldata a). Mean

2). Ordinaldata b). Median

3). Dataoflog fransformation c¢). Mode

4). Continuousdata d). Geometricmean

&G Casmhsasliul(Herer semelifHlasneT, Hre cusnssEhLeir sflursll Qumn(hSHas.
(1) Quuwysmey ey @  ggmef

@) euemasgap Hra| b)  @evLwhoy

3)  ubeorhosHer sra|  (€)  Siyssly QB sTET S WEINL

(4) QLT &rey (d) sugeflwey ggmefl

A 1)-d), 2)-a), 3)-b), 4)-c)




22

23

24

25

(D), (2)-(a), (3)-(b), (4)-(c)
1)-¢), 2)-b), 3)-a), 4)-d)
(D), (2)-(b), (3)-(a), (H-(d)
1)-d), 2)-b), 3)-a), 4)-c)
(D), (2)-(b), 3)-(a), (4)-(c)
1)-¢), 2)-b), 3)-d), 4)-a)
(D), (2)-(b), (3)-(d), (4)-(2)

What does type 1 error represents in hypothesis testing ?
SHHSICHTET GFMHemn6ruiley, 6Uend I LNemLp 6T6iTLISI 6T56metTd: GMI&ERMS! ?

A:

Probability of rejecting the null hypothesis when it is false
LBW SGHSICHTETTES!, oMl TDIDEALITRSI, 24566 BITTS &G Plehgse)
Probability of rejecting the null hypothesis when it is true

LW &(HSICSHTETITEITS, 2_600TemLD 6TeIDQLIMD S, 31HemeT BITT&&HGID Bl&LhS 56

: Probability of accepting the null hypothesis when it is true

LB &([HSICSHTETTEIS, 2_600TenL0 6TIDQLIMD S, SI&HeMeT gM& LD Bl&HD&SEH6)]

: Probability of accepting the null hypothesis when it is false

LBW SHSICHTETTEIS!, HaIM T@IELNRS!, SSNT FHGSLD Hl&pSE5e)

The standard deviations of sampling distributions is called
wrHFL uFeieder Blemeuwmer 6dle&H 6V eTLILIY MP&HELILGH MS ?

A:

Type one Error

WS el Llemp

. Type two Error

@\ JEOOTLITLD eUem& L1 LemLp
Standard Error

FLLeleusse emip

. Zero Error

LW Nemp

Which of the following measures the precision of OLS estimators ?
OLS SIS L merigefl e &i6v6SlWg &etTeminemi, &L & & e00rL_emeuderlev e1gl SiemalHRm I ?

A

R-squared
R —60T, @ (L0 LI QLI[H&H&HLD
Standard errors

Blemeuwlmeor LlemLp

. P-values

P - DG LI &6

. F- statistic

F - Leierfl efleurin

The formal for coefficient of variation (CV) is
LOTMILITL L9637 600810 (CV) —60T @& &SP T LOMEoTSl :

& x Xx100

o x Xx 100

9 %100

Jx

£

x 100

x100

Q[




26

27

28

29

30

— x100

x100

%100

Durbin Watson test is used to deduct
LILN6T eumL_ g 60T CF M 6060 615601607 261H G851 LWTLHSSLILG SR mS! 2

A Multi collinearity
LI6T(LN& 5 SHe60T6mLn
B: Serial correlation
QSML] @LOmeY
C: Hetero Scedasticity
FLOLOMM LIT6Y 6U6M &
D: Variance
allevdaLh
Procedure is the most appropriate for estimation of over identified simultaneous equation method.

SHGHLOMEH 3|6MLIMETLD STerlILL L BCFT BI&HWLD FLaTUTL(H Wenmenw LG LILNG6usHS,
QF W WemMWITeTS L&F FiflmeTs).

A: OLS
OLS
B: ILS
ILS
C: 2SLS
2SLS
D: GLS
GLS

The difference between sample estimate and population parameter is termed as
QBTG LI LievorLIeTeneaud @&, mH il G LT 19HEG LD @) 6L CuiuleTer GeumiLim() 66T LIS -

A: Human error
wefsL LlemLp
B: Sampling error
LrGH K& &evofllL L enLp
C: Non-sampling error
wr&H & senfllitleveuns LlenLp
D: None of the above.
GLsaTeT gaiLdlevemev

are simply the differences between the actual and estimated Y values
6TEOTLIGI 2_6uoTemLOWIMeDT LoMmMID SN LUCL Y S S5EG @6 Cul 2 6TeT ellSHIWITFLD :

A Auto correlation
ST LSS QGTLTL]
B: Co-efficient variation
&600T& LOMOILIT(H
C: Conditional mean
BlLBSener Fymai
D: The residuals

6TE & MBI &5 6T
An unbiased estimator with the least variance is known as estimator
SOMBS LTMILITH Q&TeroTL (B LIMTLULFmm ST L ey WL Lmerd eteoroy HMWLILGSH .

A: Linear




31

32

33

34

35

B:

C:

Grlwiey / CHICHT(H
Minimum variance
GOMBHSLLE LDmmILm@H
Efficient

)M ev)LD LI 6T

Sufficient

GumgiLnmeot

Testing for co integration is given by

RBHIR 6T L] GFMTHEMET @) 560TT6V QULPMHBISLILIGSR MS :

A:

Dickey- Fuller test

1955 — &L16V6VT C&FITS 6 60T
Engle -Granger test

IS — RTTEHFT C&FMEH 60 60T
Error - correction mechanism

HNenip HGSSID @SS (DD

. F-test

F - G&mgement

The value of probability varies from

Bl&L &SN 60T IDGLIL| DTMID 6T :

A:

0 to infinity

0-@Ha wueildansg
Less than zero

Laglwgms el Ganme)

0 to one

0-60lBH&! eTmI QDT

: Any value

gG5 I GILY

Time series data are collected
&MvS QSTLT auflenss ey ser CF&fleaaliLbG g :

A:

Over a period of time
G L STeusH D&
At a point of time
GOILILL CBISHHES
More variables at a point of time

Uev Lompl &6t GOILILILL CBEISHHES

. All the above

@) 6M6 | 6MEITSH SILD

coined the term Econometrics
QUMTBETTSTT jemeiluilev eTedrm QFMEVEnI6V 2_(HeU TSR 6OTITI.

Irving Fisher
@ureiim &6
Ragnar Frisch
Grery sUflevg
J.S. Mill

Ggg.61610. Lil6L

Karl Pearson

Smjev LNwjgesr

For a Negatively skewed distribution the correct inequality is
R flenl CHMTLL LFeuss @ Fiflumer &ineofled wmg 2

A

Mode < Median
W0 < @enLBleney
Mean < Median

Gl & Frnail < @enL[Bleneu




36

37

38

39

40

C: Mean < Mode

Gl Q& Frneifl < ws®
D: Mean > Mode

Fal Q& Fymerl > ws®

Rank correlation was found by
57 L (Hme] 6leu&h&D EaUTmey 2 (HeumesLILULL S

A: Pearson
LN wiFervesr

B: Spearman

eruLlwy GLoedT
C: Galton

&HIT6VL 60T
D: Fisher

Neqry

Laspeyre's index formula uses the weights of the
ewmenlwF GMIUT QL etor @& SHH THSH 6V 6TenLGHeTms: LIWeTLIOSSLILBH Len6 :

A': Base year

3G LILI6mL 24,600T(h)
B: Current Year

BLLIL| S,600T(H

C: Average of the weight of a number of years
QU (HL_T5IG5 6T 6TeuoT600r 1860085 US\ 60T &7 & 1f]
D : None of the above
G M & 60T LU M M6V 6THI6| LD @)6V6tI6V
When 'r' is zero the regression line cut each other making an angle of

T LL,BSIWLILNTS @ (HSHEGD CLUMS LaTaran6] CHTH &6 s6iTemm 6260TmI QalL 1q 6([H G5 MTeTTS & 2_ (16 T8 G H) 60T M6 :

A: 60°
60°
B: 30°
30°
C: 90°
90°
D: None of the above
@F6v 6THIaLD §)6V6m6y

Which of the following is not true related to the function Y = AXIO‘SXZO‘5

BCL O&BMTHSSLILL BeTereummley 6181, Y = AX, %5 X,05 - 2 L 6T QETLIL §6eunss ?

A 0.5 represents elasticity of production with respect to a change X
0.5 2 HUSHUNET QBEHRDEFR, X, —60T LLTHMSH 6L 2 6TeT QST T LTSGR S
B: 0.5 represents marginal product of production with respect to change X;
0.5 2_mHugHuledr ellerflibLy uwmfliLLedr, X, —60T 2_LeoTmerr QSTLFenL LpHuei&Hms!.
C: The function represents economies of scale.
@bSF QFWeLITH), feTelleumer QUTBETTSTIBEIGeeT LTS LedN&ER M
D : The function represents constant return to scale.
@BSF QFWeLITH), SeTelME Blemevwlmer SHLOLSmeLl LNFHLe&EH S

What is the value of elasticity of demand when Marginal Revenue (MR) is equal to zero ?
aflafllby eu@BeUITUL, LS WSSI&HGE FLOOME G (H&HGLEUTE, CHamal QBRIDFRS Serenloulle DG LIL] eTedTeor ?

A: 1
1
B: 0
0
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42

43

44

45

D: 4

4
In Linear Programming are expressed as inequalities, rather than equalities.
Grlwev BlFeuTs &S 60 FIOGSlaUBIG6TalL FL0SSI6UL6Tenn&H6eTTeH QeI &SI H S 6T meor.

A the technical constraints
QsmblevmIL LG &L GLUUTH &H6T
B: objective function
Umplenevd Q& wevLIm
C: non - negativity restrictions
THTDEMM 2(60V6VMS &L HILILITH 86T
D : Both objective function and technical constraints

LUmBlemevd QFWLTGLD, Qs MBI LG &L HLUUTH &EBLW0

If MRS S, <Py / Py implies that :
MRSSy, < Py/Py 2 GTEHE0OT & SI6US :

A: consumer should buy more of good y and less of good x to maximize utility.

Lwerurmlenl R &FLILSDHETSH, @6 BISFTUT, QUITIH6T y —858 F&HIDMEHILD, QILIMTIBET X -8 GMMEITSH 6]
QUIMMIS Geuevor(hILD.
B: consumer should buy less of good y and more of good x to maximize utility

LweTUmLemL HB&HLILSHSHTS, @@ B&TL6T, QLITIHET y -8 @Gmmelm&H e, QLIMIBHET x 83 HH &S LD aUMhIS
Geuevor(HILD.
C: consumer should buy more of good y and x to maximize utility
LweTUmLemL HB&FLILSHSHTS, 2@ BISFTL6T, QUITIHET v, LnMHMILD QLITHET x, @) F6ioren LWL FH&HL0MS 6UIThIS
GeuetoT(HILD.
D: consumer should buy less of good x and y to maximize utility
LweTurLenl HH&FLULSDHS&TS, @6 BI&TU6T, QUITHET x, QUITIHET v, @) J6uorem LD &6 MeUTd 6UITh & Geueuor(h L.
According to the monetary approach to the balance of payments, a surplus in the balance of payments will lead to ;
LB ()& &600Td @& 86T FLDLIBSLILIL L Licooredl ey & ei@&nenmuiledriily, LimbBrL (H& &emrs @& aserler 2 Ll Ligey,
-5& QLBHF QFeualid.
A': Anincrease in domestic money supply and inflationary pressures.
2 6THTL(H Levor eflBIGWITSLD HmILD Lewreis s s 5 6 (D&M SEBLD HHSFILIL
B: A decrease in domestic money supply and deflationary pressures.
2 aTBTLGILI Lietor el BlGWIME:SH 60T Genmeyld, Lieooralhsd o056 &S5 60T &6 mea]Lh
C: Anincrease in foreign exchange reserves without affecting domestic money supply.
2 6Bl Leor lBlICWTHSmS LITH &M QaueflBml (H G&evmelennt @ LI & 2 WL
D : A contraction in economic activity.

QUITBETTSTT HL 6 &6 &UI6T 2(1H &F(H&H &L

Assertion (A) : The law of comparative advantage suggests that even if a
country is less efficient in the production of all goods
compared to another country, it can still benefit from trade.

Reason(R) A country should specialize in the production of goods
where it has a lower opportunity cost.

FaMmi (A) : @@ BITLTEOTS, LDMHM @@ BTLCLT® UL G urTjfsanaule, QumpLssefler 2 mHusH ulley Q&we Hmeofley
GODEITS QBHSTID, b BTLTOIS UISHSHSH 6 @BHS! LT WD,

SITFeOOTLD (R) : 6TH6L GemMbBS eUMULILEF QFave] @HERMECSHT, SbSL QUITBL &6 2 HLSHulley, HbS b BMH
BlLemrggiauh QUMM HE S Celesor(HLD.

A: Both (A) and (R) are true, and (R) is the correct explanation of (A).

(A) LnHMILD (R) @esor@® b &ifl, Lhmild (R), (A) -uller Fiflwimer eflemé: a1 oy,@GLD.
B: Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) DHMILD (R) @retorBLd &ifl, uLeorme, (R), (A) —uledr Frflwimeor eflemds&in &8 MSl.
C: (A)istrue, but (R) is false

() &1, operimed (R) Souml.
D: (A)is false, but (R) is true

(A) U, 96016 (R) &1fl.




Choose the correct matches of the subjects given below :

8

2:

3.

4.

Adam Smith

David Ricardo

Haberler

Heckschar - Ohlin

Factor endowment
Absolute Cost
Comparative Cost

Opportunity Cost

SP&seuTL CLWTEHENET HEUTEHETI6T &(hS S TS RIS ETHLETT QIUMIHGHIES ©

JCTRRT )

GLellL flasmTGum

Gaumueuy

Glaun & api-epeSlsir

1-b,2-¢,3-d,4-a

(1)-(b), 2)-(¢), 3)~(d), (4)-(a)

1-¢,2-d,3-a,4-b

(1D-(0), 2)-(d), 3)~(@), (4-(b)

1-a,2-b,3-¢,4-d

(1-(a), (2)-(b), 3)~(c), (4)-(d)

1-d,2-b,3-a,4-¢

(1-(d), (2)-(b), (3)-(a), (H-(c)

Assertion (A) :

Reason (R)

Famml (A) : AU elenTsHev 2 flenlng 6T (SDRs), FTaUGH S [BHIT6o0T U5 H) 60T LI6T0TL|&H6meTds 6185 meuor(H)eiTerment.
&ITFeooTLD (R) : AMLIL euem560 2 Flemings e, FFeuCH Ll LiemTll Lp&HHS558 D &166 AN WasLILGSSILL LS.

46
A
B:
C:
D
47

L{]

2,

3.

(a) smiyesst] FoesTUm (H
(b)  wupemwwTsE GlFeusy
) euUILHE Qasvey

(d) sumiiliyg Glaevey

Special Drawing Rights (SDR's) have the characteristics of an
international currency.

SDRs were infroduced to increase international liquidity.

Both (A) and (R) are true and (R) is the correct explanation of (A)

(A) LODID (R) &Fifl; LHMLD (R), (A) -WedT Fflwimen eflemd:&Lh @& L0.
Both (A) and (R) are true but (R) is not the correct explanation of (A)

(A) LDHMILD (R) @ Tesor(GID &Fifl; 9L60TmeL (R), (A) —ulN6dT Frfluiment eNleng:&in 31606V,

(A)is true but (R) is false
(4) &1fl; 2paTe, (R) Seu.

: (A)is false but (R) is true

(A) BOUD; QLE0TT6, (R) Fifl.

Tariff a.
Quota b.

Dumping fx-2

Subsidy d.

Epsam.  wiSsss

Qummgseyd :

(1) SLLemTD

2 usdh

(3) QarBHsso

(4) wresflwid
A: 1-b,2-a,3-¢c,4-d

B:

(1)-(b), 2)-(a), 3)~(©), (4-(d)

1-¢,2-d,3-a,4-b

Match the following trade policy instruments with their definitions ;

A limit on the quantity of goods that can be imported

A tax onimported goods

Selling goods in a foreign market at below
production cost

Govermnment financial support to domestic producers

Camstenss smellaemer, SHeubOler U TWenmEEHLETT

(a)

(b)

(d)

@ oéEud Geiuwb Qurmlsaflsr serey 5 @
suITIDY

@ mé@udll QurLaaflsr Be) sufl

Qeusflpri (& shengullsy, 2 hHusH Qesuass
@smmsursls QummLasnst sSlHug)

2 BT (S SWrflUUTeT]&EssHE SrFmussEsr HlE
2_g6fl
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(1-(©), (2)-(d), 3)-(a), (9)-(b)
C: 1-b,2-a,3-d,4-¢
(D-(b), (2)-(a), (3)(d), (4)-(c)
D: 1-a,2-b,3-¢,4-d
(1-(a), (2)-(b), 3)-(c), (9)~(d)
Which of the following best describes the primary function of the international monetary fund (IMF) ?
FIaIGEH T BITeoor W BIH WSS 6T (IMF) (DS6Tenng Q&FweLITL el LNeTalmealsraummieT eral ellaufl&&Hma! ?

A': Providing long - term development loans to reduce poverty.
QUMM WS GDLILGNETE HE00TL &HIT6V UaTTEFFI& &L 0TS 6T 6UL0MIESH60

B: Stabilizing international exchange rates and providing short - term financial assistance to countries facing balance of payment problems.
FIaGs T MMM NG S MHIS6T BlemeuILBSSISH6V DMMILD LICTTEF FLOBlIeneVEF & 8686085 6maT 6f B 6 & MeTEBhLD
BT(H&EHEGS GMIG W &iTev BIF WGl samer 26l g6

C: Funding large infrastructure projects in developing countries.
QUeTIBS! U@L BTRS&eflev QUIflw 2 6TaL LemoliLg S L& EHSHE BS werflgsev

D : Promoting private sector investment in developing countries.
QueT B! au@BL BTG &erfle SHeoflwmy slenmaeafliey W&eSL el 2arg @ el g6

A company located in India receives a loan from a company located abroad. How is this transaction recorded in India's balance of payments account ?

@G Wwmeilley oemLnbBSl6Ter e LG LT QeueflBTL 1960 Si6mLDHSI6TET &LD6 L6 U6 BH S &Lemerll QUMIS S
@B WImeiledr Lieoorh @ @LIL& &Henrs:&e) @b Lflalissenent ealalmm LSal LGSR ma 2

A Credit side of current account

BLLIL|S &600T8H 60T &L_60T LGS0
B : Debit side of current account

BLLILS &600r8 S 60T LMHmILI LI&SLD
C: Credit side of capital account

eLN6V S 60TE> 55600185 T 60T &5L_60T LI & LD
D : Debit side of capital account

LNV S 60TE> G5600T8 &\ 60T LIMHMILT LIS &0

Economists use the term to describe trade - off in trade related activities.

QUITBETTSTY BIL|600T &6, QTS5 &N QSGTLIFLITET LAl &Hen& 566, alfss58 Falamsaml alaflliLgsne

6T6OTM QEFMHAMITLENTLI LIWeTUGSSISR MTI56T.

A Direct Cost
GBI g QF6va]
B: Indirect Cost
LDEMNGEHTF QF6Va]
C: Opportunity Cost
AMULILE Q&6
D: Swack Cost
ePEWEF QF66

Assertion (A) : The Laffer curve suggests that the relationship between tax revenue and tax rates is inverted u - shaped.
Reason (R) : Higher tax rates always lead to higher tax revenue.

FaMmi (A) : uT&UIT euemeray, euifl euBeuml Lommih eurfl R GHMHIGHEHE G @)L G 2_6T6T 2_M6Y He6VGELNTeT U 6Ulq6uLD
GTEOTMI T MIHMSI.

S&TeooTld (R) : 2B & auifl GRS HIG6T 6T IGLINMGID 315 & aulf] euBeumiis@ el e s GLD.

A Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) IDMHMILD (R) eT6dTm @ FevorGh &ifl, tnMmih (R) eTedrLigi (A) —ulledr &iflwimeor eNlemé:as1n oy, @G L.
B: Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) LDMHMILD (R) 6T6dTM @ TevoT(RHILD &1, DL60TMT6L (R) 6T6dTLIGI (A) —UledT Fiflwimenr efleméaInTE: G)6Vemev.
C: (A)istrue, but(R) is false.
(A) eTaTLIE! &1, 9L60TT6V (R) 6TEOTLISI Seuml.
D: (A)is false, but (R) is true.
(A) TOTLISI 6101, 946076V (R) 6T6dTLIGI &ifl.
It is calculated by excluding the interest liabilities from the fiscal deficit, referred as:

@s B9 uhmrsGammuiled b eul gl QUTmILIL&Hem6TsS Sl S &R L LILG U :

A': Budget Deficit
LULQKL LMMTE M
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B: Revenue Deficit
QU6 LIMMTE GHemnm
C: Current Account Deficit
HLLIL|& &H600TEG LIMMITE G 6mnm
D: Primary Deficit
(PSETELD LIMHMITE & 6mm
Which article of the Indian constitution deals with the establishment and functions of the Finance Commission ?
QBHW TR wevemoliier et L LNfl6y BIS <u,60)600T WL S 60T 610G MTLIGTLD LDMHMILD QFWELITH &emeTd endWMeTHma! 2

A Article 280
Nifley 280
B: Article 360
Wrfley 360
C: Article 370
Nfley 370
D: Article 330
Nifley 330

Marginal cost of providing the public goods to additional consumer is:
Fn(hBH6L BISHTEUMIHE G QLTSI QUITIHL 8606 GULNMHIG6USHMEHTET GMBEHLLF QF606) :

A Equivalent to the dead weight loss amount.
@MHS eTeml (AL Qeuull") @LoliL Q& Ten& &G Finlh
B: Marginal cost is zero.
aflerflibL] Q&F6va] LLBWILD
C: Marginal cost is the price amount needed for one more unit of public goods.
aflerfliDL|& Q&F6v6] eTeTLIS GLOSID ([ Weofll. QUMSIL QUL &EE5GS CHemall LB allemevd QS MemnsWTEGLD
D : All of the above according to externality situation.

GLHEm MW SMeTHSID GauafliLm GLRBlamesE ghms

Which of the following is a fiscal measure used to curb inflation ?

B LD G 600T LU M MI6T Lictorais &G en s &L (HLILMG SSID BIS) HL 6 &0 6Tl ?

A Increase in Direct Tax
CHIWS auflenl HBSLILGSSISE0
B: Credit control
LTS HLHLUG S SIS
C: Demonetization of the currency
Leoor DG LILNpLIL FLAIY &6 &
D: Issue of new currency

HBIW CBTLB &6 SIMsLILIG S SIS0

If a tax is levied as a percentage change of the value of the goods regards of the number of units produced is called the:
2 GOILLILL QuT@eflear 2 HUSHWMGLD SHVGSSHEHEHCHML ST QUTHETSEHSE ghm L LiLler g surfl
gomliLBelens HLpalBLMM o MHEMITLD :
A Specific duty
F oL euifl ol L evof]
B: Sales tax
aflmLiemeor euifl
C: Excise duty
& hIG auif]
D: Ad valorem
LHLIL RS 36Tay

refers to that part of bank loans which does not come back as primary deposit in the banking system.

QUMEIT & &L 60160 (B LIGH), UG e nLIL6b (G 6iTenln emaulils Q& TansWTSHS KB aImsamnss GM&EHMmS -

A: Repo Rate
QrLiGur all&H LD
B: Cash Drain

LI6oor LILIMMITE &6 M (cash drain)
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C: Cash Flow
LI6ooTLIL| LD & & LD
D: CLR
CLR

view that monetary policy can only attack the symptoms of inflation, not its root causes.
Lisoorall ey Q& TeTem s Lictorald: &5 5 60T MG ml&emer L HIGLD TS (LOIQULD, S{&H 60T eLN6VE & ITIT6U0T k& 60) 6T
3|6V6V.
A Liberalists
STTTeTeUTSH &6l (Liberalists)
B: Monetarists
T5IT600T LLIGU T & & 61T (Monetarists)
C: Structuralists
S LenlILeIMH &6T (Structuralists)
D: Neo-Keynesian

BlCW -0 &R W6 (Neo-Keynesian)

The recommendations of the Committee on the Financial system under the chairmanship of guided the financial sector reforms in India.

senauennuiler &b BIS Seowliy GMSs Gwellar Lflbasimrsar @B&wneild BSssmm
FIHHSSMIGEHEHE UL &TL 1960

A: C.D.Deshmukh
F.19. CH6eq (N5
B: John Matthai
OITEOT LG ST
C: VMRao
afl.eTiD. [Fmey
D: M. Narasimhan
6Tlh. FFHIDLDLD
Life-cycle hypothesis of saving was originally formulated by .
Gy UMW QIMPEMEF &M &HSICHTET (PNSH606) 2 [HauTe:ER WS

A Attanasio
9L 6uMBerE G (Atlanasio)
B : Modigliani and Brumberg
Qumg &K eflwmest] oo KNFbuFs
C: Brady, and Friedman
NGy i &LNem L GLoesr
D: Fisher
9619691 (Fisher)

The emphasizes the role of government in appropriating resources for development through monetary expansion and forced savings through
inflation.

Lot el fleumg s mmILD Licuorelss & g5 6o eneuid &L LMl CEFLAILILN 60T a6 TE &) 885 60T 6)6ITHIS M6 6518 & 6US) 6L
ST SHS 60T LITEID & WL MISHRMSI.

A': Quantity theory approach.

3l6M6Y GHITLLIMH 2 650I@&(L6mM (quantity theory approach)
B: Keynesian approach

B G60T &) LLIGIT 2 600 (& (LD6TIM
C: Monetarist approach

[BITE0OTLLIGU TS 316001 (S5 (LD 6M M (monetarist)

D : Prior saving approach
(WetT GFLALIL| €01 (L6 M (prior saving approach)

Which one is not the objectives of Credit Control ?
@ eUMMIET 6781 &L60T &L (HILILITLLG.60T GBITEHHMIGET {606V ?

A Stabilisation of the general price level.

Qumal eflensy Blemev 2 MIGLILIH & SIS 60

B : Stabilisation of the International market.

FIaIGEH T FHengen L BlemeuliLI(h &S5 60
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C: Stabilization of the money market.
LI6OOTE & [H60)SH6mUL BlemeullLI(h & &1 %560
D: Promoting economic growth.
QUTBETTSTY eUeTF&EF e 26186 &5 60

What are the causes of low and Declining bank profitability ?
GBS LHMILD HEdl6UMID MBS 6VITLIGE D& TEUT & TIJ600T BI85 6T 6T6T60T ?

A Mounting Over dues, rising bad debts
QUOBGLD &MeVld &L HS LI6wT QFNSSIens MM SF &6 G0 UTTTs &L 6o
B : Restoring target oriented branch expansion policy without considering Cost & Returns.

QF6va| LDMHMILD QIBLOMTETS NS S &([HHH 6V QGTETETTING @ VS E FTIHS HeneT alliflaImsss G & T6aTen 6L
S LemwliLg

C: Priority Sector advances at concessional Interest rates.

(WweTanfleming SemmeE @ &L sl Faens all 1 lH 55560 Q&HTH LILIS
D : All the above.

GLOSYIGTEIT 26M60TS SILD

Central Bank as a controller of credit.
MO QUGG ULITEOTS), &L60T &L (BT LITem(y Licuoflem eLeVLD BlenmEGalMm MG M.

A': Stabilises the Internal price level.
2 67 ellemevem il BlemeulIL(hHSSRMS
B: Stabilizes the rate of foreign exchange.
BB QFevmalemiuler & GS5mS BleneulILBSSIRMS!
C: Controls Business Cycles.
auenlla &pHRAGm6T &L HILLG SSRGS
D: All of the above.
GLMH TN S emeTE S
The Theory of historical materialism is related to
LIEooT (LD, QUITIBEBGLO (LN & GITEmLOLLITEITEn6) 6T6TmI L [HE HMeudHev euMpBHEelfaserfler GamLlLm@b 2 L 6T
QSTLILemnLWSI.
A Alfred Marshall
OSLINQTL IDTFEFeL

B: Adam Smith
QLD &dG
C: Karl Marx

SITIJ6V LDMTIE 6N
D: T.R. Malthus

T.R. LOMELGIENV

Harris and Tadaro' model of rural-urban migration suggests that the payment of a high wage to the workers in the formal urban sector leads to
Gamiflev mmid CLTLCrmelledt SFmwliLm - B&SFLILM @LDAUWTSE TR FIWLTOTS GFHITHE QF TS
GTEOTEOT Q61U 6BT16D, (LDEM WM BS&TLILIMS Slemmuiley, QBT TeTI&HEH8E 2 W 2erGH)UILD 6lLPTHIG 61 S -5 eul
AGHGLD.
A: Urban unemployment

BSTLILM Cousmevuileireniln
B: Population growth

LNEEHET QFMTMHL QLHEHSHLD
C: Industrialisation

Q& THEIOWILDTESLD
D : Reverse migration

FGLL - @LDAUWITSH6

Rostow's stages of growth is divided into
GrmeuCLmailedr aueTF&ES LI Blemevser 2.8 LNfléas LUl (HerTereor.

A: 3 stages
3 LLG. Blemevss et
B: 5stages

5 LG Blemevgs 6T
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C: 7 stages
7 LG Blemevss et
D: 4stages
4 U1g Blemeuss 6T
Among the economists who did not regard the process of economic development as automatic ?
FECL QHTHSSLILLL QUTIHETTSTT 6U6VEIB TS EB6T WM, QUITHETITSTT 6UeTFES (LM MmWITETS, &T60TT8 B8&LD6U S 6TedTmI
&MHBeileveney ?
A: Adam Smith
oL b &5
B: Robert Malthus
TTUTL LDTELSI6N
C: J.S.Mill
Ggg.616M. Ll6L
D : David Ricardo
CLaiLl fl&smyGLm
‘Which country in Europe become first to launch and experiment universal basic income, (UBI) on pilot basis on January 1, 2017 ?

sgeotaulf] 1, 2017 o6t CTMLILITEN 6T 6TH& HIT(H) (LOSHET (LDGHEVITS (LDEOTEN S MTT6tor 2119 LILienL_ulleh 2 eugsemmellul |19 LILienL
QU(HLOMEOTLD 6T6dTLIEM S AHAM(W&LILMSS LFlCFTgmeruley FEOILILL &I ?

A England
QrIGeTHS!

B: Sweden
FrefL_edr

C: Norway
BTTCe

D: Finland
S eTeuTH Sl

distinguished three different growth rates, the actual growth rate (g), the warranted growth rate (gw) and the natural growth rate (gn) in the growth
model
eTaTLIGN T SetTenien L auemF&ER LmH flulley, enedTm CaumiLil L elen &R 65 & mbISG 66T auensLILG S S eorTT;
2_GOOTemLOWITET eUemTI&ER S SLD (g), FHMSTE 2 66T aleTIEFSR allFISID (gw), @ WM& WM alemTFF eSS0 (gn).

A: Sloow
G
B: Becker
QU&ST
C: Minces
T\ lr:358
D: Harrod
ammGrmL

Economic growth in country X will mandatorily occurs, if
@ BHSTEV, X BITLIQ60 QUITHETTSTT aUeTIEFS &L Lmwild gmu@Lb.

A There is capital formation in' Y
Y -6V ELO6VGH 60T 2_(HEUMTEGLD 2_6TenS!
B : There is capital formation in X
X —6V ELOEVG60T 2_(HEUMEHSHLD 2 6Tl
C: There is population growth in x
X -6V DS HETASHTENS UATIFDF 2 6ol
D: There is technical progress in world economy
2 &L QUTIHETTSTISH 6 QS MSl6LEBIL LI (LeTCeTMMLD 2 6Tengl
One of the main assumption of Kaldor's model of growth is
&TeBLT6T auemi&d LmH fluf6dr (&S WILDITET 2 63ILNTeoT IS 660 6eoTm

A Constant working population
LOTMTS 2 6MPHGSLD LD&HEH6T Q&M
B: Constant Profit

LOMMTG 6VITLILD
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C: Constant Investment
LIS WS6S0H

D : All of the above
GLOGYIGITEIT 3]60)60TS Sl LD

Which of the following economist have propounded Innovation theory of profit ?
B GG 60T QUITerfl ey eueuaBFlev, WITH LiSIemn UL G&TLLITL LY 6M60T (LNETemeUS ST 2

A: JM Keynes
IM. Q& IetTerv
B: Karl Marx
SITIJ6V LDMTTE 6N
C: Joseph Stiglithy
GM&FL 61g 8606V
D: Schumpeter
g LT
X'and 'S' are the amount of output and effluent discharge in the river, respectively, by a manufacturing company and if the utility function of a community using
the river is U® = U%(S, etc.), then 3U/3S for the community tends to .
R 2 MLSH & sLG Lefluler Qeaueflufl g6 oj6may, MMl pmilev el(BID &llamers (WemMGEU X LDMHMID S 89L& LD.

Sleuaurmmlenerll LWeTUG SSID R FenGHSH 60T LIWLeTUTL HF QaFuweuLIm@® eTedrLig U = UC (S, etc.), 6Teol 160 355
FeNG&:SH 60T dU/IS SL6Ts GTEOTLIG TS (LDEDCITHMSI.

A: Be positive

CHIFMMWITS &) ([H&HE LD
B: Be negative

TR TMMWTS GBS G0
C: Be zero

LRSIWILONg @) ELD

D: Be Indeterminate

@)6OLBlem6eVLITS @) (B8 LD

‘What type of growth curve best describes the growth pattern of renewable resources like forest ?
&TH GUmeTm LSILILNG 56V aleTmhig6rfleT aueT &R (enmenl 6THS 6U6MEWITET aleTIEFS alemeTa] AmLiLns elafla&Rmal ?

A Linear
Gmilwiey
B : Exponential
AT
C: Sigmoidal
FHLOMUIL 6V
D : Parabolic
LIJeUemerTLL
Which of the following is incorrect ?
The targets of national population policy are ;
1. Achieve Zero growth rate of population by 2045.
2. Reduce infant mortality rate of below 30 per 1000 life births.

3. Prevent and control communicable diseases.
4. Reduce rate to 21 per 1000 by 2010

Netraumeauesralmml6L 6Tl Salmmersl ?

GHHIW IDG&GHET QFMeN & G185 TeTen & UN 6T E)6V8: (&85 6IT 61 60T :

1. 2045 -G 6T D& &HET QT & U6 Ll aleTiFSR R H5mS (el algl

2. 2 Wlpeimer LAmLiLserfleT Grbhans @mUiL S g Hemng 1000 -6V 30 6T6dTm R HE5H6) &6 M &S 60
3. QMMM CHMUSHMTS SHSSH6 LMHMID SLHLULG SIS0

4.2010 -0 Spe001e HG6T, NIpUiL el SB55m8 uITsEnE 21 66T SeTellhE Gemmss56)

A 1and 3 are correct
1 mmib 3 &

B: 1 and 2 are correct
1 Inmmub 2 &ifl

C: 1,2, 4are correct
1,2, 4 &ifl

D: 2and 4 are correct

2 I0mmiD 4 &ifl

Demographic Transition theory :
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&S QHTNS @LLOTHM CGaHMLLIMMH eTeoTLIS

A': was originally developed to explain population explosion in the Third World.
eLNETMITLD 2 6u5 BTHIHET NESHL. QAF TS QLHEHHS T ener allaTsGalamnss GM&HEH M
B: explains population growth in industrializing societies in terms of time lag between when people die and when their children and grand child are born.

QsMEMWILDTSESE FeNGHSH 6T I06HS5L QST CILIHESHSSH e, @MmLIL IDMHMID GLPHens WHmID CUTS GLOHn s
Wl 9565 a6, &mev 6re] @ emLalsflenulds Q& meor® 6ileTs: SR mE!

C: explains population growth in industrializing societies in terms of time lag between falling death rates and falling birth rates.

QsMEAMWITESES FNHSH 6T I06HS5L QST CILI(HEHHSH 6T G GmLiL el&sL WwHmID G mub
Wiy R s 55 ener &mev @6l alef Qo merh eleTé:&Hma!

D: All of the above
GUMHTFaNIL eMeTS SN

Once provided, the marginal cost (MC) of an additional person using a public good is

QUTE QUL Gefer 55 FaHGev efleflibL] QFeV6] 3{VeVE 3L &S QF6Va)] aﬁ]@gm L&D,

A between -1 and +1
-1 PS6L +1 Uemy
B: lessthan 1
1 -&@& GOMeUTSH
C: zero
Lglwid
D: more than 1
1 -8 il SIH&ITs

Which one of the following is not public good category ?
G LD G 600TL UM MIET eTem el QILIMSI QLML 86T aUemSBLILITL 160 E)6Vemey ?

A: Clean air
G &G L0IT60T &TMHMI
B: National Defense
CHHW LMSISTLIL]
C: Street light
Q5@ eNed: G
D : Public transport
QUITEl CUMHGMTSHS!

have formulated the compensation criteria free from the value judgement.

LHLILS FTULNBHa NGULL GULT® 26TeyCa M6V M6 2 (1H6UTE G UL 6TemeT .

A: Pareto
LUGLGLT

B: Pigou
WGsmey

C: Kaldor and Hicks
SHOSTH HMID anflden

D : Mallthus and Marshall
LOMELSITEN LOMMILD LOTITEG60

Paretein condition for a public good is that its MSB should be equal to its

QTSI [H6VED)I 88 60T GLITLQUIGHT [B] LI &5 60607 6T60T60T6)6) 63T MIT6V, 5 60T MSB 25601 -&5GF FLOWMS QHSHSH
GeueuoT(H)LD.
A: TSC
TSC
B: MC
MC
C: MSC
MSC
D: TMB
TMB
RBI has formulated a model scheme and advised lead banks to open a bank in every district where they have lead responsibility.

@nbH W flFel abiS), @ THIlE B LSS allqalennSSI6Tengl, 3|S60TLIL., (LOEITETeuT] eUMmkISR & 6T 66IGaIT(H
WLreIL LSH NI Semeu MLl QUITMILIEnL e MHmI, 6umkiG G enerT eeiTenmg Hlamkig Geleuor(H G LD 6TmI
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SMleymissLILLH6TaTer. SBSS S LD GLD.
A': Bank correspondents
QUBIH CFanel QSITLTLIMETF&6T
B: Consultants
2,BVTFHFSH6T
C: Financial Literacy and Credit Counselling Centres(FLCCCs)
B8 sevallimle) InMHMID &L6T 2, CeVITFEET eMLOUIMIGHET (FLCCCs)
D: Banks on Wheel
BLIOTHILD 6UkI& &6l
The order of the appointment of the Chairman of the Finance Commission in India :
(i) J. P. Neogi
(i) K. C. Pant

(iii) K. Brahmanda Reddy

(iv) C.Rengarajan

BIF) 9LMe0T LSS5 BlW&ESILLL CFFLersaneT alflensliL(hiSsel :
(i) I.P. BIGWT&

(i) K.C. LIrmevoT L

(iii) K. Nyorbsm QLig

(iv) C. QI MBIG [T ITe60T

A (i), (ii), Giif) and (iv)

(), (i), (i) LLODLD (iv)
B: (i), (iii), (ii) and (iv)

(i), (i), (i) LDOQYLD (iv)
C: (ii), (iii), (i) and (iv)

(i), (iii), (i) LDOQYLD (iv)
D: (ii), (iv), (iii) and (i)

(i), (iv), (iii) LDHLILD (i)
Which of the following Economist was not involved in calculation of India's National Income before Independence ?
B LD G 600TLeuMNI6V 6T 625 QILIMIBETITS T BIL6WTT, & HH IS S5 G (WHeng W @ HGE W meler CHE W 6l(HLO TS 60 &5
FHe0TE R (HEUFH 6L QSTLTL 2 6L W6UTTSH G 6V6m6 ?
A: Dadabhai Naoroji

STSTUTUL QBeTCrmesl
B: Finday Shimas

sL9aTCL eflinmery
C: P.C. Mahalanobis

P.C. I0&6uMCHTLI6N
D: Wadia & Joshi

QUMW MHmIh Gsgrad)

major ports which are managed by the Port Trust of India under Central Government.
Quflw SIEMUNSHEIGET, IDSH W T 6T ELp 2 6T6T @HHIW SeMMWNS &HP&HSSTE BlITaR&E&ELILGR M.

A: 10
10
B: 12
12
C: 13
13
D: 15
15
SAARC means

SAARC 6T60TLIG) :

A: South Asian Association for Rental Co-operation
QAUMTLENGESTET QSMHTH W &FhIGSLIN

B: South Asian Association for Regional Development.
WNomhH W eueTidFR &8 mer QeH&THR W &FhiGHLID

C: South Asian Association for Regional co-operation.
NomhH W Gl H)mey& s mer Q&M TR W &FhiGHLID

D : South Asian Association for Rent co-operation.
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QML @&53ImPLILND&TeT QSMH&HTHR W &FhIGLIN

India's National Sample Survey(NSS) started in
@S wmeiler CaHAW MRl 6T gullie] (NSS) Qg,m_rﬁwauul_l_ 21,600T(H),

A 1947
1947
B: 1950
1950
C: 1952
1952
D: 1900
1900

Agreement on Agriculture (1995) deals with

(i) Providing market access.

(ii) Regulating domestic support

(iii)Containing export subsidies.

1995 -6 QFWIWINILIL L efleugml LIbSLD, @FCerTm(H QSTLTLIMLUIG :
(i) M emIHme SeflliLiS)

(i) 2 6TBETL (O bSTM6 R EIGLESEIH6V

(i) FHMILOS) LOM6oT1 WM& Ee06mE G185 Mevor (H6Tengl

A (I, (ii) and (iii)
(i), (i) LDMMILD (iii) LD
B: only (i) and (ii)

(i) nHMILD (ii) L H)LD
C: only (ii) and (iii)

(i) DM MILD (iii) DL HID
D: only (i) and (iii)

(i) LD MILD (iii) L HILD

FERA was replaced by FEMA effectively in the Year

SBBILEF QF6UITAI6U (MG LenMmE FL L LD (FERA) BB QFevmaletll UFTLIYE FU LSS eTme) (FEMA),

QLD 3L,e0oT(®), HMDLIL WMHMUILL LS.

A 2000-01
2000 - 2001
B: 2001--02
2001 - 2002
C: 1999-2000
1999 - 2000
D: 2002-2003
2002 - 2003

The Discount and Finance House of India Limited (DFHI) was set up in by the RBI.

196NVQGHETETL. LOMMILD &60)LIETTTET6N M6y 6Ny &Ll @BEH WM 6NLGIL L (DFHI)
QU TDNS&SLILULLG.

A: Apr-1988
gLITeu1988
B: Apr-1987
gLiTev1987
C: Apr-1989
gLiTeu1989
D: Apr-1990
g L17601990

The Fiscal Responsibility and Budget Management (FRBM Act, 2000) was introduced by
BH LU QummuliL Hmib UL QL Geumesoremin (FRBM &FL_L LD, 2000)

A P. Chidambaram
u. Aglburib
B: Dr. Man Mohan Singh
LM&LI 06T GLDME: 60T FIMHI
C: Yashwanth Sinha

-6v, flF 6l aUBIG WIMTeY

—9560 AMWSLILGSSLILL LS.
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weqelbs Feramm
D: Nirmala Seetharaman
BlFeur F&TymnedT
In India which state first implemented The Fiscal Responsibility and Budget Management Act 2003 ?
@B W TElevEIGeTlev 618! (NSETLNS VTS BIS L QUITMILIL] LMHMID LILQKL GLememrenng &L LD, (FRBM) 2003 —&3
BeOL (PenmLILGSH WS ?
A: Tamil Nadu
SWIDBHTH
B: Karnataka
SUBITLGT
C: Andhra Pradesh
2HETL NFeseih

D: Kerala

@& yermm
P. D. Ojha estimated the number of persons below the poverty line on the basis of average calories intake of per capita per day.
.19 eeeam—eNledT DS ILTL 19 60TLIL. (HEUT 62(1 [BITENETE S &HCM&EHEG GMMeUTs: 2 606 6T(h &S5

Q& T6UOTLIT6V, 6l 6UMIenLng CHMLILMES BLD eUMPEMITI 6T60r Q&FMEVEVEVITLD.

A: 3,350
3,350
B: 2,250
2,250
C: 2,450
2,450
D: 2,650
2650
MFAL means
MFAL 6TedTLIS) :

A: Marginal Farm and Agriculture Land
@ MR BletI6v LicuoTen 6ot L0MMILD eXleU&F T [Bleuid
B: Marginal Farm and Agriculture Lease
@ MISBletr6v Listoren soor LDMHMILD NQUFTIS G5 SH6M&
C: Marginal Farmers and Agricultural Laborers.
A oHBlene alleugmuilgser Mmih GeleTTETemLID 2 60O LILITEIT 78 6T
D : Marginal Farmers and Agriculture lending
@mf Bl allausmuilgsar nmmild eNleuF Tl &L ererfld g ev

The Calcutta Stock Exchange was established in
HVHSSIT LIMIGE FHeng Bloiellw o,600m(®)

A: 1893
1893
B: 1899
1899
C: 1903
1903
D: 1908
1908

Consider the following statements and select the correct answer from the following codes given below.
Assertion(A) : Disguised Unemployment is Present in India.
Reason(R): Marginal Productivity of disguised unemployed labour is zero.

EC Q&ETHG&SLILL G 6T GMuih serfledmbg Fiflwmer samenm CHIHOSH &S :
Fammi (A) : @B WmelleL emmasLILL L Calemevullarenin 2 arengi.
&ITyeoorid (R) : eSS LILL L Calemevuwllsveursauraerler afleflibL] Blemev 2 MUSS), LLBWILDTE 2_6T6Ts.

A': Both A and R are true and R is the correct explanation of A

(A) -WLb (R) —2_1b &, nMHmith (R), (A) —edr Fiflwimeor eflemé &I MEGLD.
B: Both A and R are true, but R is not the correct explanation of A.

(A)—WLb (R) —2_1b &, 94,6016 (R), (A) —60T Fiflwimeor eflamgssh 3j6v6v.

C: Aistrue, but R is false.
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D:

(A) &1fl, gpeurev, (R) Seumi
A is false, but R is true.

(A) BUD), 94606V, (R) &I

Essential components of Human Development are :

06oflg euaTTERUN 6T 2155 WIMeUGF UILDITET Jo MIGET @)60I16U DG LD :

A:

Equity

FL0 LIMKIG

Sustainability

1B160)60 5 B 60T6MLO

Productivity and Empowerment

2 HUSH HOILD NS &TT06TS S0
All of these

GLMH&nNUemal Wme|h

Existence of considerable amount of surplus labour in

2 Lfl 2 emnp 16T, SevoflFInmenT oleme] @ LiL,

A:

HYVP depended for its success especially on the availability of

Seasonal Unemployment

LI[Beussmev Galemevuileremin
Disguised Unemployment
emM&S&LILL L Galemeuuieiremin
Industrial Unemployment

Qs mdlevgienm Ceauemevulleremin
Educated Unemployment

U955 Calemeuuilestenin

PG DG G6L H(HLD 2_600T6SH6T FIL_L LD (HYVP),

A:

Proper irrigation facilities

Fflwmer BILILITEF6T eUFS)

Industrial Products

QaTHHFTema 2 HUSHL QUITIHL&6T
Political Stability

TFLIG Bletr6v 5 HeoTemLn

. All the above

GG GMILILILLILIL L 66l 2i6m6tTd &Il

—6V 2_6TarTal.

FenL LIS FTIHHHHHMSI.

The following in any society is considered as an important indicator of economic backwardness.

6 ML LUl Leummier

FLIQEHETL(HeUSTEH 2 _6TaTsl.

A:

Poverty
QIMIENLD
Wealth
QFeveuld
Development
aleTgga
All the above

GG FnMUILILL e6T&HSILD

, 6TH& QB FePSHSH eI, QUITBETTSTTSSH 6V L6r &miS W Bleneuen &




